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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
JininpoBcebre 20 7 5,9 1) 1,1 1,1 10C3 82 0,70 1 24 30 370 4e BCP [OWKODKEHHS 20 HE BHUABIECHO
Jininposcbke 20 7 59 ) 1.9 1,9 10C3 82 0,70 1 24 30 370 4e BCP CTOBOYPOBHMH 20 HE BUABAEHO
JIHinpoBCbKeE 63 6 7.7 8C3(85)2C3(65)+ A3 +bii 85 0,66 1 23 26 325 3e BCP WiKi AHHKaMK 20 He BUABICHO
JininpoBchbxe 63 7 1,3 7C3(81)2C3(91)1 13 81 0,60 1 22 32 260 3e BCP 20 HE BUABICHO
Kam"siucbke 27 25 29 9C31bn+13 71 0,60 1A 27 30 370 2e BCP Ea 25 HE BUABJICHO
Kam"sHcbre 28 16 10,5 4C33bn2/13113+0c¢ 70 0,70 1 24 32 240 2e BCP £ 24 HE BUABICHO
KaM"sHCbKE 29 6 150 7C32bn1 43+0c 66 0,70 | 24 28 314 2e BCP B 20 HE BUABIICHO
[1leBueHKiBCbKE 2 5 58 10C3+13+bn 91 0,70 1A 31 36 500 2e BCP B 19 HE BUABJIEHO
[1lesueHKiBCbKE 4 2.8 10C3+]13 86 0,75 A 30 32 520 2e BCP B 23 HE BUAB.IEHO
[LleBueHKiBCbKE 4 9 58 10C3+]13 86 0,70 1A 30 32 480 2e BCP “ 20 HE BUABICHO
[ileBueHKiBCbKE 4 10 2.3 10C3+/13 81 0,70 1A 30 32 480 2e BCP - 18 HE BUABIIEHO
[1lesueHkiBChKE 4 14 0,5 10C3k 81 0,30 1 26 28 220 2e BCP kopenesa rybxa 15 HE BUABJIEHO
[1leBueHKiBCbKE 6 16 0,7 4C32132132Bay+0¢ 91 0,60 | 29 40 220 2e BCP NOUWKODKEHHS 24 HE BUABACHO
[LleBueHkiBChKE 13 | 5.6 10C3+ /13 96 0,70 1A 30 36 480 2e BCP CTOBOYPOBUM M 20 HE BUABJICHO
[1ieBuenkiBcbke 13 26 1,6 10C3+]13 76 0,70 1A 28 36 455 2e BCP WKIAHAKAMHK 19 HE BUABIACHO
1lleBueHKiBCbKE 20 2 29 9C31 /13 66 0,80 1A 25 30 435 2e BCP e 17 HE BHUABIICHO
[1lesueHKIBCbKE 21 23 2.8 10C3+13 66 0,70 1A 27 30 430 2e BCP “ 19 HE BUARIIEHO
[1leBueHKiBCHKE 22 21 1,2 10C3+13 81 0,60 1A 29 32 390 2e BCP B 24 HE BUABJIEHO
[lleBueHKiBCbKE 22 23 09 10C3+/13 106 0,50 1 28 36 330 2e BCP - 25 HE BUABJICHO
[lleBueHKIBCHKE 27 13 48 9C31/13+bn 64 0,80 1A 26 28 460 2¢ BCP Bt 21 HE BUARICHO
[leBueHKiBChKE 29 4 04 10C3 66 0,60 1A 26 28 340 2e BCP - 25 HE BUABACHO
I]eBueHKiBCBKE 29 9 26 10C3+bn+Oc 55 0,75 IA 22 28 350 2e BCP Bt 18 HE BUAB/CHO
[lleBueHKiBCHKE 29 32 1.0 10C3 81 0,50 I 27 32 320 2e BCP B 21 HE BUAB.ICHO
UleBueHKiBCbKe 31 12 32 8C32bn 61 0,75 1 22 26 310 2e BCP Bt 18 HE BUAB.ICHO
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/ [lIeBueHkiBCchKke 32 10 3,7 10C3 61 0,80 I 20 26 330 2e BCP Bt 25 HE BUABJACHO
[HleBuenkiBcbke 32 12 1,5 10C3 54 0,70 1 20 26 280 2e BCP e 19 HE BUABJIEHO
Hlesuenkinchke 32 15 1.6 10C3 54 0,70 1A 22 28 320 2e BCP P 21 HE BUSBJCHO
leBueHkiBchKe 32 21 0,2 ' 10C3 54 0,70 1A 22 26 320 2e BCP B 17 HE BURBJICHO
UleByeHxincoke 33 2 8,1 10C3+bn 56 0,75 1A 23 26 370 2e BCP “x 19 HE BHABJIEHO
lesuenkipcbke 33 3 7.6 10C3+Ak6 54 0,80 | 21 28 340 2e BCP = 24 HE BUABJICHO
1llepuenkiacoke 33 4 10,6 10C3+bn 54 0,80 1 21 24 340 2e BCP = 24 HE BUABJICHO.
¢ [Hesyenkiscbke 33 5 9,6 10C3 = 56 0,80 1A 23 28 380 2e BCP - 22 HE BUABIECHO
IlleBuenkiBchke 33 16 3,1 10C3 56 0,80 I 21 28 340 2 BCP . 18 HE BUABIIEHO
1IeBuenkipchke 36 22 1,1 9C31 13+Ax6+O0c 59 0,80 1A 25 28 420 2e BCP - 22 HE BUABIIEHO
[ileBuenkiBcbke 40 2 42 10C3 61 0,80 [ 21 24 350 2e BCP s 21 HE BUSBACHO
[leByenkiBehke 40 10 1,5 10C3 71 0,75 1A 27 28 460 2e BCP -a 18 HE BUABJIEHO
llleBuetikiscbke 40 ] 0,8 10C3 71 0,75 1A 26 30 420 2¢ BCP et 16 HC BUAB.ICHO
1llepuenxiscoke 42 15 3,7 10C3+13+bn 86 0,70 I 27 36 435 2e BCP B 23 HE BUSBACHO
IleBuenkiBchke 46 3 1,7 7C3303+0c 61 0,80 1A 26 30 410 2e BCP Eas 15 HE BUABJIEHO
IleBuenkiscoke 46 23 1,7 9431C3+bn+Oc+Bay 116 0,70 1l 26 36 310 2e BCP < 15 HE BUABIICHO
IleBuenkincbke 48 2 0,2 10C3 53 0,30 1A 22 24 180 2e BCP Cas 19 HE BUABJACHO
[1leBuenkiBchbke 48 5 29.5 ) 9.4 94 10C3+bn+Ax6 54 0,85 1 21 26 380 2e BCP o 16 HE BUABJIECHO
{[leBuenkiscbke 48 6 41 10C3+bn 56 0,70 1A 23 28 3535 2e BCP - 22 HE BUABICHO
IlleBueHKiBCbKE 48 21 9.0 10C3+bn 54 0,75 1A 23 26 370 2e BCP e 17 HE BUABJICHO
IleBuenkincoke 48 24 2,5 10C3(66)+bn+C3(80) 66 0,70 I 23 28 340 2e BCP | Bt 22 HE BUABJICHO
[Hepuenkiscbke 48 25 22 10C3+bn 71 0,70 I 23 32 340 2e BCP ¢ 24 HE BUIBIEHO
Iesuenkiscnke 48 31 1.4 10C3 66 0,75 1A 26 28 420 2e BCP Bty 21 HE BUABJICHO
IHeBuenkipchke 48 35 30 10C3+bn 66 0,75 1 23 32 370 2e BCP - 20 HE BHABJICHO
IIeBuenkiBcbke 48 37 3.8 () 22 22 9C31bn 37 0,70 1 15 20 200 2e BCP B 16 HE BUABIICHO
[Mlepuenkincbhie 48 38 0.6 8C2bn+]13 66 0,70 I 24 32 350 2e BCP Bl 23 HE BUABICHO
HleBueHkinchke 48 39 0,7 10C3 56 0,80 1A 22 26 380 2e BCP s 25 HC BUABICHO
[IleBuetikiBebke 48 41 04 9C31bn 42 0,70 1A 18 22 220 2e BCP “ 20 HE BUABIICHO
Ulesuenkigchke 48 43 1,7 7C336n 30 0,70 1A 14 ” 18 150 2e BCP Bl 23 HE BUABJIICHO
Pasom 2139 146 14,6
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